(1o
(et ((r_0 (ref 0))
ix]
(fork
(atonic
(et ((x
(fork
(ref-set
)

G

(deref
)
)

ty
(fork
(ref-set
)

[
(deref
o)
2000
(do (join x)
(join y)
(deref
£0)))
(f1
(fork
(atonic
(et ((x
(fork
(ref-set
)

G

(deref
o)
BNl

ty
(fork
(ref-set
o
G
(deref
)
ann
(do (join x)
(join y)
(deref
£0)))))
“
o)
(Goin £-1)))))
0

[x)
(et ((r_0 r_new)
(o

(Fork
(atomic

(deref
)
-
£0)
(Goin £1))))
((r_new 0)))

0

v
(fork
(ref-set
r_new

-
(deref
r_new)
27

(do (join x)

(Join y)
(deref
r_new)))))

BN

v
(fork
(ref-set
r_new

-
(deref

_new)
anm

(do (join x)

(Join y)
(deref
_new))))))

oin 1.0)
(Join £1)))))
ew 8)))

(o
(let ((10 f_new)
(f

1

(fork
(atomic
(et ((x

(deref
r_new)))))

(join 10)
(Goin 1))

(f_new

(atomic

2)
(do (join x)
(join y)
Geref r_new))))))
((r_new 0)))

deret
_new))))))

v
(fork

(do (join x)
(Join y)

deref
_new)))))))

-
(deref r_new)

—set

(deref r_new)

(Join y)
(deref r_new))))))
N

BN

(ref-set
r_new
-

(deref

~_new)
anm

(deref
r_new))))))

+
(join T_new)
(Goin 1))

(f_new 2))

((r_new 2)

(r_new 1)

(r_new 0)))

(e
(let ((f1 f_new1))

(+ (join fnew) (join f_1))))
(f_newt

(atonmic

(+ (deref r_new) 3))))
ty
(fork
(ref-set

(+ (deref r_new) 4)))))
(do (join x)

(Join y)
(deref r_new)))))

(f_new 2))
((_new 2) (r_new 1) (r_new 0)))

((fe
(let ((£1 f_newn))
[

(join f_new)
(Goin 1))
(f_newt 6)

(+ (oin f_new) (join f_newl))))
newt

Gatonic
Qe ((x

(+ (deref r_new) 3))))
vy
(fork
(ref-set

r_new

(+ (deref r_new) 4)))))
(do (join x)

(join y)

(deref r_new)))))
(f_new 2))
((_new 2) (r_new 1) (r_new 0)))

«

(Join f_new)
(Goin 1_1))))
(f_new1
(atomic
(et ((x
(fork
(ref-set
r_new
-
3)
v
(fork
(ref-set
r_new
-
a)
(do (join x)

(

(deref r_new)
)

(f_new
(atomic
(et ((x
(fork
(ref-set
r_new
1
v
(fork
(ref-set
r_new
-
20
(do (join x)
(Join y)
(deref r_new))))))
((r_new 8)))

(f0
(et ((f_1 f_new1))

Jotn y)
(deref r_new)))))

(o
(et ()
+
(join f_new)
(join f_new1))))
(f_newt
(atomic

(+ (deref r_new) 3))))

v
(fork
(ref-set

(+ (deref r_new) 4)))))
(do (join x)

(join y)
(deref r_new)))))

(+ (deref r_new) 1))))

v
(fork
(ref-set

(+ (deref r_new) 2)))))
(do (join x)

(join y)
(deref r_new))))))
((r_new 0)))

({170 (+ Goin fnew) (oin f_ne1)))
(Fnet

(atomic

(+ (deref r_new) 3))))

v
(fork
(ref-set

(+ (deref r_new) 4)))))
(do (join x)
)

(join y)
(deref r_new)))))

(f_new
(atomic
(et ((x
(fork
(ref-set
(+ (deref r_new) 1))
v
(fork
(ref-set
(+ (deref r_new) 2)))))
(do (join x)

(join y)
(deref r_new))))))
((r_new 0)))

[x)
(+ (join f_new) (join f_new1)))
1

(+ (deref r_new) 3))))

ty
(fork
(ref-set

(+ (deref r_new) 4)))))
(do (join x)

(join y)
(deref r_new)))))

(£_new 2))
((r_new 2) (r_new 1) (r_new 0)))

(0
(let (11 f_new1))

(+ (join f_new) (join f_1))))
(f_new 4)
(F_new

(atonic

r_new
(& (deref r_new) 1))

«
(fork
(ref-set
r_new

(do (join x)
M
(deref r_new))))))
((r_new 4) (r_new 3) (r_new 0)))

(f_newt 4)

(fnew
(atomic
(et ((x
(fork
(ref-set
(+ (deref r_new) 1))))
(v
(fork
(ref-set
(+ (deref r_new) 2)))))
(do (join x)

(join y)
(deref r_new))))))
((r_new 4) (r_new 3) (r_new 0)))

[1gx)
(et ((£1 f_new))
+

(join f_new)
(oin £1))))

(f_new 4)

(f_new 6))

((r_new 6)

(r_new 5)

(rnew 4)

(r_new 3)

(rnew 0)))

(7.0 (+ 2 Goin Tnew)))
(Fnet

(atomic

(+ (deref r_new) 3))))

v

(fork
(ref-set
[

(deref r_new)

ann

(do (join x)

(join y)
(deref r_new)))))

(f_new 2))

((r_new 2) (r_new 1) (r_new 0)))

(1o
(+ (join
(f_new1 4)
(f_new
(atonic
(et ((x

f_new) (join f_newl)))

r_new
(+ (deref r_new) 1))))
(v
(fork
(ref-set

r_new
(+ (deref r_new) 2)))))
(o (join x)
(join y)
(deref r_new))))))
((r_new 4) (r_new 3) (r_new 0)))

(new 0)))

(1o
o

(join f_new)
newt)))

(r_new 3)
(r_new 0)))

(10 (+ 2 (join f_new1))) (((r08)
(f_new1 6) (fnewd 6)
_new 2)) (fnew 2))
((r_new 6) ((r_new 6)
(r_new 5) (rnew 5)
(r_new 2) (r_new 2)
(r_new 1) (r_new 1)
(r_new 0))) (rnew 0)))
([0 (+ 6 (join f_new1))) (10 10)
(fnew 4) (fnew 4)
(fnew 6)) (f_new 6))
((r_new 6) ((r_new 6)
(rnew ) (r_new 5)
(rnew 4) (r_new 4)
(rnew 3) (r_new 3)
(rnew 0))) (r_new 0)))






